EARAROBEEIERT — 2 N— IBISH —F

2015113130 (&) 8MEAAIESH

MRS 7L TER C32= ¥7%—K EEDE IR
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- - = AHIESE :39. -3-3- . — 1ERERA R (A
B 7>0-55> 4 6 o 1(3_9)9 3-3-3-4 | 41.1 1 ;1;5) e &
R:FaTLEN Biv-TI—k P D TN
= 4 o6 | RES 1:39.9 6-6-4-3 |41.0| — 2 488 | ARER (AntE)
2o 6|LV1vB-F> 6.0 (757) Gy | EEEE
R:zZa—C4>75>F B:O0—-5>31 RS
ch S, 4 4 | EBXHEH 1:40.4 4-4-5-6 | 41.3| — 5 408 | EEREL (AA1E)
3 9| h—7EZY 54.0 2 1/2) (ca) |WAE
8T B b= RTIATA b N— TS
@ = = i) : —7-6- — ITE&EZ (#iE)
a7 |37 TH T R (12'410/'2% AN R ! ‘zgf =mE
L:hrn=— B:HAILC R E—F X HiE  ERA
S o7 | HilRThiA 1:41.0 1-1-1-1 | 42.6| — 8 522 |BTHE (#18)
5811*3714U37ﬁ 56.0 (3/4) (+2) W@% ;
T4 >N=h>h)= B:av7zJR Hi5H5
o= o # o6 | BREEA 1:41.3 N-11-11-11{ 41.4 | — 11 447 | ABF— (1)
Eﬂ 4| NZJIIRTLZR 56.0 1 1/2) © | 8 as
RHISTLIFL N B2 MLEA L Nk sk
LARASR . S _ EEEZ (E)
701l 7Va-7L=-% B 7 % 1(/13;5, 5-5-6-7 | 42.0 3 (5;2) %7&;
:d—k7Va— B:INCX EKT 7 — L
X\ S B4 | REEZ 1:41.5 9-10-10-8 | 41.7 | — 7 440 | FHEE (f04R)
glgls|/NT/AF 54.0 (1 1/2) 1) (F) J P NHHR
R:T7+—T4F4F+—-XY%> B:O0-70-+t IWT7—L
5 %3 + 8 | HTHER 1:41. 7-8-9-1 41. - WARSE (#af5)
9 3 FHaxL Y 4 50 (75)5 8-9-10 9 6 ;1:137) g ]
L:avz2y3AY B:2hx/NF Hhezis
N o4 | LS 1:41.7 2-2-1-2 | 43.3| — 9 428 | EEHBS (A
10/8|10| LT V7~ 6.0 3/4) o |EEES
L:vhir—L BT TXx =i =
: # 4 | SEEH 1:41.8 10-9-8-9 [42.3| — 10 445 | ARIRIEME (GAFD)
1z g| AA1Y—F 0 @/4) e | EEEA
LNAT =1 BRI EEAUS
® I —F—@EBIERL
13—7+— 11,10,2,9,1,6,3,7,5,8,4
2=1—F— 11,10,2,9,1,6,7,3,8,5,4
Jol=5r= (10,11),2,6,9,(1,7),8,3,5,4
43—F— 11,10,6,2,7,9,1,5,8,3,4
[ N3
BB 2 1904 714K 2-6 150H % E 2-6 230 3EHE 2-6-9 810M
8 B 2 110 2-9 320M B 2-6 400M K31 2-6-9 2,360
6 1309 6-9 390M B E 2-6 250
9 220M B H 2-6 480

ABICOVWTRDTEEERROODE. TR LIV,




